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1) = H e {1 =] 1 P - 33 =5

s #HSEH(bar) RABRZE(-kPa) BAESHE(NL/min) $#5S2(NL/min) pryer= e
JMN10 4.5~6 85 70~74 24~41 6 10
JMN20 4.5~6 85 140~148 54~85 8 0
EXRBEFTE(-kPa)MEFHE(NL/min)

) o= #HEEH HSE - y
S B NL/min 0 10 20 30 40 50 60 70 80 90 RABEZE-kPa

JMN10 24 70 42 27 23 20 16 11 5 1.3 -
EE— 4.5 85
JMN20 54 140 72 50 44 38 32 20 11 3 -
JMN10 41 74 52 31 28 20 16 12 4.8 1.32 -

6 85
JMN20 85 148 99 62 54 40 32 22 10.5 2.7 -
ERRETE(-kPa) 8y SBFE(NL/S)

y = HSEH HSE = L
s bar NL/min 0 10 20 30 40 50 60 70 80 90 RAETE-KPa
MN10 24 - 0.08 0.2 0.44 0.8 1.24 1.8 2.55 3.8 -

EE— 4.5 85

MN20 54 - 0.04 0.12 0.23 0.41 0.65 0.93 1.33 2.03 -

MN10 41 - 0.11 0.28 05 08 118 iRo) 263 5.16 -

6 85

MN20 85 - 0.05 0.14 0.25 0.4 0.59 0.86 131 2.58 -

JMNH10~20

EEER[@mm]
il #SEA(bar) BRAHETE(-kPa) RAHZRE(NL/min #5S2(NL/min)
= ( Lt ) ( #sn H=O

JMNH10 4.5~6 92 52~62 20~40 6 10
JMNH20 4.5~6 92 100~124 79~88 8 12
EFRETE(-kPa)lWES R E(NL/min)

1) = ﬂthh ﬁqi 2 — |
NS s NL/min 0 10 20 30 40 50 60 70 80 90 BRABRTE-kPa

JMNH10 20 52 31 20 18 17 13 11 7 2.5 15

— 4.5 92
JMNH20 79 100 62 38 32 30 22 14 12 8 3
JMNH10 40 62 36 18 16 14 11 9 6 2.4 0.9

6 92

JMNH20 88 124 72 35 32 27 22 18 12 4.8 1.8
ERBEFTE (-kPa) i SBTiEI(NL/S)

) = HEFEH HSE - N
S o NL/min 0 10 20 30 40 50 60 70 80 90 BRAEZE-kPa
MNH10 20 - 0.11 0.3 0.65 1.1 1.55 2.15 2.85 4.7 10.2

—_— 4.5 92

MNH20 79 - 0.09 0.16 0.32 0.55 0.8 15 1.8 2.7 5

MNH10 40 - 0.13 0.4 0.76 1.2 1.78 2.45 3.44 5.08 9.6
—_— 6 92

MNH20 88 - 0.06 0.2 0.38 0.6 0.89 1.23 1.72 2.54 4.8
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